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(1) Nuts are not[aren’t] easy to digest.
(2) Being a foreigner was not[wasn’t] a handicap.
(3)  The sun does not[doesn’t] go around the earth.
(4)  Women did not[didn’t] have the vote in ancient Rome.
(5)  The police have not[haven’t] caught the thief.

(6) Visitors cannot[can’t] fish on this side of the river.

(7)  Is his car being repaired now?
(8) Did they have a good reason for doing that?
(9)  Will she have to make a decision by herself?
13



(10)  What is that book about?

(11)  How did he get into the house?
(12)  Who attended the meeting?
(13)  Why is he allowed to drink?

2] 1) svm @) SVOM (3) SMVOO
4 SMVC (5) SVOC 6) SVOM  [#58%&]
) 4 Q W 3) &l 4) Hi 6) Al 6 @
(7) ® © &l (10) 4 (11 4 (12) 4
(13) # (14) 4 (15) # (16) (17) 4 (18) il
(19) (20) 4 Q1) Hl
30 R - iEfg
=  [FREE EGGS] 13555 L7e < TRIRTY, GEEAR] DAL TS,
29 [MLLF O IEfg

= A% [AREAT k] ORI, [FEnlrE EGGS] THSGEDOEREFEEL X 9,

[h34-$1%F)

<R - B> 1R 15 GEEOL) ., 15 EfiS

-3-+29 ~3+429

—<x<—
2

G) m<ll<m (© 45°=<0=135° (7) O=120° (8)% <9>%

0 y:%x2+2x—5 @ (-1,3) @ BAE3 fMi-1 @

100 AC=2V6,R=2J2 (1 £ 12) (a,b,c)=(-8,14,40) (13) 4x—/15y =62

(14 x> -3x+)° —%y+10=0 (15) 72

<EORZ> . BRARREROIEE CHER L T IEE LY,
Yoo [AD~15) EHEEFHENR) | CTOEMEDS 2 LLT, 3558 L2 L3

—  F9 [FHEEEZ] B E R G) OZEE RS LTLIES, 7272 L, ZOBEOSZEICH
7oL T~G) (2B | ONENFEFERTHD Z LEFHFETT, (1)~(5)0> HC 3 ML R TESR
LTWAZ LB RLE LTLTEENY,

12 500 E ol 10 500 al L~y 8Ll a2 1L 650l E a3 L

Yo ERGEIPHOBC TIEFERDL (SHITORE - BEEORDY 23, SEENR OB IV TEENZ 2> T
TFET, B T LF oy VR 100 ThH, 72788 (B 28z 2720 Tl
IEFCE RS TZRIEICONT S, o722 L0320 GBS0 ) 7, IEE L= L 5 it dh o i0n L,
FRE DA CIERTE eolz) CE - T, WE, BB L SNAFERNE LR £4, Zfcbh
STE ZOZEHEIATBWTRFT L Q2K 22RO LET, TRIASIIECEER E TREWE
L IEE,

14



